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THE NORMAL DISTRIBUTION FUNCTION

If Z has a normal distribution with mean 0 and
variance 1, then, for each value of z, the table gives
the value of d(z), where

D(2)=P(Z<z

For negative values of z, use ®(
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If Z has a normal distribution with mean 0 and
variance 1, then, for each value of p, the table
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If Z has a normal distribution with mean 0 and
variance 1, then, for each value of z, the table gives
the value of ®(z), where

D(z2)=P(Z<z

For negative values of z, use ®(
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Y‘ i‘a"\t variance 1, then, for each value of z, the table gives

the value of ®(z), where

D(2)=P(Z<

or negative values of

0. 0.5871 05910 0.6026 | 0.6064 0.6103

0.6217 0.6 0.6293 | 0 0.6406 | 0.6443  0.6480
// 554 | 0.6591 0.6628 0.6664 7 8 0.6844
/////// .5 0.6950 0.6985 0.7019 | 0.705 0.7190

0.7291 0.7324 1 0.7486 0.

07611 0.7642 0.7794 0.7823
| 0788107910 0.7939 0.7967 | 0.7995 0.8023 0.8051 |0.8078 0.8106
‘n,h’\*v 0.8186 0.5 0.8264 0.8289 0.8315[0.8340 0.8365

Pz 70-)8>

(v P(z > -o 47)
| g

. ht If Z has a normal distribution with mean 0 and
variance 1, then, for each value of z, the table gives
the value of ®(z), where

P(z)=P(Z<Lz

For negative values of z, use d(

0.5040 0.5080 0.5120 [0.5160 0.5199 0.5319

/ 5398 | 0.5438 0.5517 0.5596 5 05714 53
5 0.5832 0.5871 0.5910 | 0.5948 0.59 0.6103 0.6141
6 0.62 5 0.6293(0.6331 0.6368 0.6480 0.65
/ B o 7 7S 2 0.6844  0.6879

/,'//// ‘ 0.6950 0.7019

939 0.7995 0.8023 5 $ 0.8106
0.8212 0.8264 0.8 31508340 0.8365

389
0.7704 0.7734




(\/) ? ( AZ < —0. 3 é) THE NORMAL DISTRIBUTIO!
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If Z has a normal distribution with mean 0 and
variance 1, then, for each value of z, the table gives
the value of d(z), where

D) =P(Z<

For negative values of z, use ®(
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If Z has a normal distribution with mean 0 and
variance 1, then, for each value of z, the table gives
the value of d(z), where

D) =P(Z<z]

negative values of z, use ®(-z
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TRIBUTION FUNCTION

Z 7 —06-333
If Z has a normal distribution with mean 0 and

‘-" - variance 1, then, for each value of z, the table gives
the value of d(z), where

O(2)=PZ<z

tive values of z, use d(-z) = 1 - d(z).
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